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3 Jlguw

What * the ma :, in grams, of potassium in 12.5 g of 12.5 g KoCryO7 b (el i) g gl A5 Lo
KaoCrOq 294.40 g/mol = A gl AL])

(molar mass = 24.40 g/mol)?

A. 1.22

B. 332 ¢
C. 5.67g
D.0.72 ¢

LMS_10ADV

4 Jlquw

How many moles of CI' ions are present in 2.5 mol ZnCl,? *3 smol ZnCl, .‘\.i cl s .!:'1 2 3o 230 oS

. 2.5 mol CI ions
. 5.0 mol CI ions
. 1.0mol ClI ions

. 7.5 mol Cl ions

LMS_10ADV

5 Jlgu

What is the mass of 0.5 mol of H,50,? H2504 o= 0. 5 mol A5 L
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Y 50 il days 5/5:alyall ggaao | (32%io (o JUIAl - dliwl 5) 6aalg 80 @
dibla abla]l 0 M | lja dyan abla) 0 17 | daan ablbl 5 1l

1 Jlguw

How many moles of copper are present in 148.2 g Ca{OH),? *148.2 g Ca(OH): 4 Nﬁ;ﬂh LY gall 230 S
A. 1 maol
B. 2mol
C. 0.2mol
D. 0.5mol

LMS_10ADV

2 Jlgw

You have 2.25 g of sodium sulfite Na,50, Na, S0, apapall Sl Ha 2,25 g L
How many Na® ions presented? 540 el Na* iyl 2sc S
A. 1.9x 10° Na*ions
B. 2.2 x 1022 Nations
C. 9.5x 102 Na'ions
D. 1.6 x 10?3 Nations

3 Jlquw

What is the mass, in grams, of potassium in 12.5 g of 12.5 g KaCr07 & (el pll)a gads gl AlS L

KoCnO: 294.40 g/mol = 4 gl 4kl
(molar mass = 294.40 g/mol)?




